www.kem-kueppers.com

info@kem-kueppers.com

- BREMHRRINEFFE DIN EN ISO 9001

AR ER

KUppers Elekiromechanik GmbH

ZHM...HP &7

] EB l)ILE.VI-
AT & EERL



WWW.OCTSOURCES.COM

Iz A

AT EPE AR, ORI T e A R R

HAPRERINE A TBA IR, il LSO T,
—RME, AR VIR b, HE R T e &

JEREOL N B, ZHM HP#ERA H a2 .

BT A 2 MRS LB R TR o AR A FoRs BE 1Y
A0 5 IS T CRAIE e RN A A B ] o >R FHAUTOCLAVE 3/8%_SF-
375-CX JEREM & ART 1] 141000 bare FRATHIIAATEXSR A %
kR LR AEEXEE [X

[RIBAOIZIT

R AR, WEBRERUT R =
A P BRI G B 14 FE o 0 OB AN i BT R AR AN 417
BT G P 2 A B 1 R T e

WA B S AN IR s, Feshf AL THa, h
e R S e B A AT 2

VR

B3 Atk

LA

JIHREHA] (DRA)
K E RS
He
WEMEL

JE 77553 1000 bar
My 7 Fsf ) 6

A A

RARSH
s MEEE K& w=KEN S B
I/min B bar Hz") kg

ZHM 01/1 HC* 0,005 EX 2 26.500 1.000 2.2 E 880 3,4
ZHM 01/2 HP* 0,02 EX 3 14.000 1.000 4.6 EX 700 3,4
ZHM 02 HP* 0,1 EX) 7 4.200 1.000 7 E) 490 3,4
ZHM 03 HP* 0,5 EX 25 1.740 1.000 14 E 730 3,9
ZHM 04 HP* 0,5 ES) 70 475 1.000 4 E) 560 11,1

1) WEGEE GG VTER T E . ATR AU % e S R 1 4P
w ARSI,

54


WWW.OCTSOURCES.COM

BIESH
ok SRR AE 0.5%. (2 30 mm?/s; Z4MEAIEIEJF T 0.1% )
EEE £0.1%
¥R Hht: #4DIN 1.4404 (SS316L)
Hile: #%4DIN 1.4122, 1.4501
A VBRI TRALAS (ZHM 01/1), TRBRH&
LaEag FKM
viwiisi=iis -20 °C % +150°C (P =il 4if1)
R WRATE (425000)
R ERRIESE
TR viE* | wr* | vier | ol | vicr | vier | TD* | vHE* | FOP*
}(Lﬁl%%;’ E E E E E E D E E/F
< +70°C
S | S+120°C v v v J
E | <+150°C J J J
< +350°C
i v v v v v v v
pEE R J v v v v v v
B b
Bl 4 - 20 mA N v
Bl it i
B B v v
AL v v
HJRfEH 12 - 24 V J v Y v v v
CERTIEREEE) v v
AR v v

1) JLENZEA: B Sk / D Gk 1 F TSR A

« AR I A A B R

55



WWW.OCTSOURCES.COM

R~FE (mm) - ZHM 01/1 £ 03 HP

] oA
\\o /
L
¢
A\
H
1
‘ D
; —
|
i
P C
Gilk=) oA B c D G H L P T2 Autoclave R4
ZHM 01/1 HC 94 M8 x 16 18 48 UNf 9/16 72 92 E 23 | SF375Cx20 | 3/8"
ZHM 01/2 HP 94 M8 x 16 18 48 UNF 9/16 72 92 B/E 23 | SF375CX20 | 3/8"
ZHM 02 HP 94 M8 x 16 18 48 UNf 9/16 72 92 EMH 235 | SF375CX20 | 3/8"
ZHM 03 HP 94 M8 x 16 18 60 UNF 9/16 84 92 EMM | 235 | SF375CX20 | 3/8"

1) BRI (F350).
2) TR BRI TR IR (H) D 8 16 8 0 HE AR (T

3) R=#f#

56



WWW.OCTSOURCES.COM

ZHM HP - i5%¢

R~FE (mm) - ZHM 04 HP

2x B
° @ A
H
G — |-
L
CJ
s gA B (o3 D G3) H L P T2 Autoclave R4
ZHM 04 HP 125 M8 x 16 18 60 3/4“ 14 NPS 116 121 B 30,5 SF750CX20 3/4¢

57


WWW.OCTSOURCES.COM

